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1. What types of strokes are Explodents ?
A) Up strokes B) Down strokes
C) Straight strokes D) Thin strokes

2. What is particular with strokes in shorthand, which are not written upward ?
A) Thick strokes B) Thin strokes
C) Long strokes D) Small strokes

3. Name the sound, which is not included in vowels ?
A) e B) a C) ow D) o

I.MMWHM
ﬂ“w“mamkas

el occurs after two strokes
C) Vowel occurs before two strokes
D) Stroke followed by a vowel

" 5. Give an example for using ‘N’ hook in advanced phraseography.
l A) Ten B) OlderThan ) Pen D) Train

6. Which decides the position of outline in shorthand 2
A) Consonants B) Circle C) Loop D) Vowel

7. Give an example for using doubling principles in advanced phraseography.
A) My dear Sir B) There are
C) They are D) Dear Sir

8. What is the sound of initial large circle in shorthand ?
A) S B) SIS C) SW D) SES

9. Which form of outline is used in shorthand 7
A) Brief B) Long C) Small D) Large

10. What is the main feature of “Chay” in shorthand ?
A) Heavy stroke B) Large stroke
C) Up stroke D) Light and Down stroke
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Which is the place diphthongs sign is not marked ?
A) Il place of the stroke B) il place of the stroke
C) | place of the stroke D) None

Which is the word included in triphones ?
A) Sense B) Since C) Sing D) Science

Which type of “N”" is used in the word “Downhill” ?
A) Stroke N B) Hook N uoz eril Bme
C) Curve N D) Halved N °

Which is the word included in dot ‘h' ?
A) high B) hill C) hope D) uphill

Name the ‘R’ used before the stroke ‘M'.
A) Upward R B) Downward R
C) R halved D) R doubled

Which type of 'L’ used after ‘N’ and ‘NG’ ?
A) Downward B) Upward C) Doubled D) Halved

Write an example for doubling principle.
A) some other B) they are C) nor D) in our

Which word is not included in suffixes ?
A) Paying B) Hearing
C) Compare D) Fielding

Write an example for advanced phraseography.
A) Leader B) Load
C) Rate of interest D) Subjective

Which word is not included in prefixes ?
A) Muttering B) Connection
C) Welcoming D) Recognize
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QUjerERm eeUd:Eld naflow @osicunomacdssd, al, 8, aH, ¥ CEEUGWD a@®

alleonarilad pieqisimy ?
A) @PEWIEMELE:UD
C) allaysucneaudssid

B) godbdweneisnud
D) cu@monmmoeneudEstd

jostREld ‘ag)’ CREUEQSIEMIM ERSWISEAMOET ?
A) ouggel enflog B) aujay enflagy
C) muoeicsy D) mujay ey

60] COELWIES @G0 CO6U E:¥l6n) @o, @Mo ag)mic cumond
BOEUOQSIOBYMEMETEIOM ?

A) @6N=00 LIVMUOOMETY B} 210} ALEBO

~ B) ®@mmoo qujemundm@en 6210} Q@m0

25.

C) emmoo mojemunomes) aele ayemo
D) ayomoe mupeauodm@® eaidle ayomoe

DEIWOSo CaBod3 andMla MoassE@ widl o dleymememam ?
A) eraugsloiad cang o.aidlo aresgsemo
B) mocug myeellad meng eaidle aleeglsemo

C) mecugsiailal e.aloyal@me esemo
D) mecugsioilel amy ale essmo

Delwago eandds anomalla oweq somm® agm ?
A) eosy ‘an’

B) ®l¥eajoegimm ‘an’ osy

C) eaddeqongwmymm ‘an’ coey

D) enflog) ‘a0’ (‘an’ endlazy)

035/20-K

enflasymojemuoom@® ‘al’'@on allamo cumodd oalewoudlenymm ‘almenal’
a@@mosm ?

A) cuelowai B) cadeajogies vl

C) sosowmafl D) #l¥eajogies nai
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J
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A) ‘4" mrswoso B) ‘3’ mrswoso
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40. QUoead@ 2 aLesi] ag)iEemiod aay JBOWDETD 'V’ ALY B> FeToTs T gy

GOEUWIEN ag)LMIEBHE ?
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Artificial Intelligence is associated with

A) Fifth generation B) Sixth generation
C) Fourth generation D) Third generation
EEPROM stands for

A) Easily Erasable Programmable Read Only Memory

B) Electrically Erasable Programmable Read Only Memaory

C) Eliminating Electronically Programmable Read Only Memory
D) Easily Editable Programme on Read Only Memory

Which is not a computer classification ?
A) Mini Computers

B) Super Computers

C) Mainframe Computers

D) Maxframe Computers

. Which is the language that the computer understands and execute directly without

translation ?
A) Assembly language B) Basic

C) Machine language D) C++

A number of letters that appears little below the normal text is called
A) Superscript B) Subscript
C) Super text D) Top text

By pressing F12, which of the following will happen ?
A) Save as dialogue box will appear

B) Open dialogue box will appear

C) Save dialogue box will appear

D) Close dialogue box will appear
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In which change case option is used for capitalise the first letter of each word in the

selection ?

A) Upper Case

B) Sentence Case
C) Title Case

D) Toggle Case

Which of the following word processor come first ?
A) Word Processing B) Word Star
C) DOS D) COBOL

In Excel, the intersection of row and column is known as
A) Cell

B) Workbook

C) Symbol

D) Shapes

Which one of the following is not a valid data type in Excel ?
A) General B) Number
C) Data D) Character

MS Excel 2007, which menu displays sort and filter option ?

A) Home B) Formula
C) Data D) Review
=Sy UL
Which one is horizontal alignment ?
A) Left B) Centre

C) Right D) All of these 1 grieae

In MS Power Point, the slide orientation button can be found in the
A) Animation B) Design
C) View D) Home
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The file extension of a power point presentation is
A) xls B) .bmp
C) .ppt D) .doc
Slide sorter can be accessed from which menu ?

A) View B) Edit

C) File , D) Insert

Which option can be used to set custom time lines for slides in a presentation ?
A) Slide Time Lines

B) Slide Timer

C) Rehearsal

D) Slide show setup

. A web address is also called
A) LRU B) URL
C) LUR D) ULR
Which is the slowest internet connection service ?
A) Landline B) Dial up service
C) Digital subscriber line D) Cable modem
. Junk email is also called
A) Spoof B) Spam
C) Copple crumbs D) Sniffer Script
Which of the following is required to create an HTML document ?
A) Search engine
B) Internet
C) Browser
D) Text Editor
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“Cotton and Khadi are comfortable dress materials.” The word underlined in the
sentence is

A) Adverb B) Pronoun C) Noun D) Verb

On the way to airport we met one-eyed man. (Select the correct
missing article.)

A) the B) an C) a D) is

“What is your occupation ?” The sentence is

A) Exclamatory sentence B) Interrogative sentence

C) Imperative sentence D) Declarative sentence

Add the correct question tag :

Let's go to a drama, ?

A) shall we B) do we C) don't we D) had we

Choose the correct reported sentence :

“Where do you work”- The policeman asked.

A) The policeman enquired where | worked.

B) The policeman enquired where do | worked.
C) The policeman enquired where did | worked.
D) The policeman enquired where | have worked.

Find out the GERUND in the following sentence :

Swimming is her favourite hobby.
A) Hobby B) Swimming C) Favourite D) Her

Change into passive voice :
The attender opened the door.

A) The attender had opened the door. B) The door had opened by the attender.
C) The door was opened by the attender. D) The attender was opening the door.

Select the correct phrase preposition :

The brave soldier died fighting_____ his country. ——

A) because of B) in case of C) instead of D) on behalf of
Choose the correct phrasal verb :

| can’t his behaviour.

A) put on to B) put up with C) put out D) put off
Complete the sentence :

If you had attended the coaching,
A) you would have been win the match ~ B) you will win the match
C) you can win the match D) you could win the match
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